
code description

BRK-RV2RR50SYS 

13B CS-DSC-HUBRR40S

DSC-RR195RV2

13A CS-DSC-HUBRR50S

2B

2A KIT-VT-SC0680CH

8 KIT-VT-SC0850CH

希望小売価格（税別）

RBS-V2 REAR BRAKE SYSTEM (with 50mm brake disc support)

RBS-V2 REAR BRAKE PIPE

BRAKE PUMP Ø19MM

SCREW CYLINDRICAL HEAD M6x80MM

SCREW CYLINDRICAL HEAD M6x45MM

WASHER Ø6x12MM

NUT SELFLOCK LOW M6

SPACER Ø8.5xØ18xH5MM

RBS-V2 REAR BRAKE CALIPER with pads and screws

Ø187mm RBS-V2 REAR BRAKE CALIPER SUPPORT

11,400RBS-V1 "SUPERLEGGERO" REAR BRAKE DISC HUB Ø40 MM TITAN GOLD ANODIZED

50

7A BRK-CLSP187RV2 11,400

11,400

35,600Ø195 RBS-V2 REAR BRAKE DISC

"SUPERLEGGERO" RBS-V1 REAR BRAKE DISC SUPPORT BLACK ANODIZED

RBS-V1 "SUPERLEGGERO" REAR BRAKE DISC HUB Ø50 MM TITAN GOLD ANODIZED

12 CS-DSC-SUPRRRV1 10,400

11B

Ø195mm RBS-V2 REAR BRAKE CALIPER SUPPORT

SCREW CYLINDRICAL HEAD M8x50MM

SCREW CYLINDRICAL HEAD M8x40MM

RBS-V2 REAR BRAKE DISC MOUNTING SCREWS (6 pieces for each components)

Ø187 RBS-V2 REAR BRAKE DISC11A DSC-RR187RV2 31,400

10 KIT-DSCRBSFIX 10,800

9 KIT-VT-SC0840CH 50

40

KIT-VT-SC0645CH

7B BRK-CLSP195RV2 12,500

6 CS-BRK-CALRRRV2

157,800

REAR BRAKE SYSTEM RBS-V2

46,200

4

50

3

BRK-PPRV2 10,400

1 CS-PMP-19OL

5 KIT-VT-SP0518 720

50

KIT-VT-NT06SL

23,000

KIT-VT-WS0612 30

IPK ACCESSORIES 



KIT-PAD-RBSV2-BL

RBS-V2 BRAKE CALIPER CAP Ø28MM

WASHER Ø5x10MM

5 KIT-BRK-CALPS28V2

6 KIT-VT-SQ2834

KIT-VT-WS1014

code description compound 希望小売価格（税別）

SUPER SOFT

MEDIUM SOFT

12 KIT-VT-SG3 

11 KIT-VT-NT05SL 

2,500

3

MEDIUM

HARD

180SQUARE SECTION GASKET Ø28X34MM

O-RING Ø28MM

6,000

30

40

PADS

KIT-PAD-RBSV2-GR

RBS-V1 BRAKE PAD SAFETY PIN

NUT SELFLOCK LOW M5

SEEGER Ø3,2MM

RBS-V2 REAR BRAKE PAD GREEN  OPTIONAL

RBS-V2 REAR BRAKE PAD RED

RBS-V2 REAR BRAKE PAD BLACK   OPTIONAL

RBS-V2 REAR BRAKE PAD BLU   OPTIONAL

8 KIT-BRK-CALCAP28V2 2,200

7 KIT-VT-OR28 180

10 KIT-BRK-RBSV1SFP 760

9 KIT-VT-WS0510 30

4,200

KIT-PAD-RBSV2-RD 3,700

KIT-PAD-RBSV2-NR 4,000

120

4 KIT-VT-OL10CN 830

COPPER WASHER Ø10x14MM

SCREW OIL PIPE CONNECTION M10

RBS-V2 BRAKE CALIPER PISTON Ø28MM

2 KIT-VT-OL10BR 830

1 KIT-PAD-RBSV2-RD 3,700RBS-V2 REAR BRAKE PAD RED

SCREW BREATHER M10

IPK ACCESSORIES 



code description 希望小売価格（税別）

MKB-V1 REAR BRAKE SYSTEM (with 30mm brake disc support)

BRAKE PUMP Ø19MM

SCREW CYLINDRICAL HEAD M6x45MM

WASHER Ø6x12MM

NUT SELFLOCK LOW M6

SPACER Ø8.5xØ18xH5MM

MKB-V1 REAR BRAKE PIPE

STR-V1 FRONT LEFT BRAKE CALIPER - MKB-V1 REAR with pads and screws

MKB-V1 REAR BRAKE CALIPER SUPPORT ANODIZED BLACK

SCREW CYLINDRICAL HEAD M6x30MM

SCREW CYLINDRICAL HEAD M6x45MM

STR-V2 FRONT BRAKE DISC - MKB-V1 REAR MOUNTING SCREWS (6 pieces for each components)

STR-V1 FRONT BRAKE DISC - MKB-V1 REAR BRAKE DISC

MKB-V1 REAR BRAKE DISC SUPPORT BLACK ANODIZED

MKB-V1 REAR BRAKE DISC HUB Ø30 MM TITAN GOLD ANODIZED

BRK-MV1RR30 126,000

13B CS-DSC-HUBRR25 10,400

13A CS-DSC-HUBRR30 10,400

12 CS-DSC-SUPRRR3 9,300

11 DSC-FRTSV1 27,200

MKB-V1 REAR BRAKE DISC HUB Ø25 MM TITAN GOLD ANODIZED

10 KIT-DSCSTRFIX 10,800

9 KIT-VT-SC0645CH 50

8 KIT-VT-SC0630CH 50

7 BRK-CALSUPR3 8,300

9,300

3 KIT-VT-WS0612 30

2 KIT-VT-SC0645CH 50

MKB-V1 REAR BRAKE SYSTEM 

1 CS-PMP-19OL 23,000

BRK-PPR3

4 KIT-VT-NT06SL 40

6 CS-BRK-CALLFTSV1 33,500

5 KIT-VT-SP0518 720

IPK ACCESSORIES 



code description compound 希望小売価格（税別）

SUPER SOFT

MEDIUMKIT-PAD-STR-NR 3,100

KIT-PAD-STR-BL 3,500HARD

STR-V1 FRONT BRAKE PAD - MKB-V1 REAR BLACK

STR-V1 FRONT BRAKE PAD - MKB-V1 REAR BLU

PADS

KIT-PAD-STR-GR 5,400STR-V1 FRONT BRAKE PAD - MKB-V1 REAR GREEN

11 KIT-VT-NT05SL 40

12 KIT-VT-WS0510 30

NUT SELFLOCK LOW M5

WASHER Ø5x10MM

2 KIT-VT-OL10BR 830

3 KIT-BRK-CALPS26 1,880

STR-V1 FRONT BRAKE PAD - MKB-V1 REAR BLACK

SCREW BREATHER M10

BRAKE CALIPER PISTON Ø26MM

1 KIT-PAD-STR-NR 3,100

4 KIT-VT-SQ2632 180

5 KIT-VT-OR26 180

SQUARE SECTION GASKET Ø26X32MM

O-RING Ø26MM

KIT-BRK-CALCAP26 900

7 KIT-VT-SG3 30

6 BRAKE CALIPER CAP Ø26MM

SEEGER Ø3,2MM

10 KIT-VT-WS1014 120

8 KIT-BRK-STRV1SFP 720

9 KIT-VT-OL10CN 830

STR-V1 BRAKE PAD SAFETY PIN

SCREW OIL PIPE CONNECTION M10

COPPER WASHER Ø10x14MM

IPK ACCESSORIES 



4 KIT-VT-SPCALMEC 500

SCREW ROUND HEAD M8x18MM

BRAKE-CLUTCH WIRE 1.9x2000MM swedish type

SHEATH BRAKE-CLUTCH WIRE (50 meters)

BABY KART MECHANICAL BRAKE SYSTEM

ISO 7379 SCREW

WASHER Ø6x12MM

NUT SELFLOCK LOW M5

BABY KART MECHANICAL BRAKE DISC

BABY KART MECHANICAL BRAKE DISC SUPPORT

BABY KART MECHANICAL BRAKE CALIPER SUPPORT

SCREW CYLINDRICAL HEAD M8x65MM

WASHER Ø8x14MM

NUT SELFLOCK HIGH M8

MECHANICAL BRAKE CALIPER BRACKET

SCREW CYLINDRICAL HEAD M6x30MM

NUT HEXAGON M6

PEDAL SAFETY SNAP RING Ø3.5MM

MECHANICAL BRAKE CABLE HOUSING

MECHANICAL BRAKE PISTON PUSHER

SCREW CYLINDRICAL HEAD M5x35mm

WASHER Ø5x10MM

2 KIT-PAD-MECBK

1 CS-BRK-CALMECBK

BRK-SYSMECBK

3 KIT-VT-SCCALMEC 500

5 KIT-VT-SPR1224 500

10 KIT-VT-SF03RN 80

9 KIT-VT-NT06HX 40

7 KIT-BRK-CALBRKMEC 1,250

12 KIT-BRK-PSPSH 1,000

11 KIT-BRK-CBLHSG 1,000

8 KIT-VT-SC0630CH 50

BABY KART MECHANICAL BRAKE SYSTEM

6 KIT-BRK-CALPS 1,460

73,000

42,000

code description 希望小売価格（税別）

BABY KART MECHANICAL BRAKE CALIPER 

BABY KART MECHANICAL BRAKE PADS

MECHANICAL BRAKE CALIPER SCREW

MECHANICAL BRAKE CALIPER SPASER

MECHANICAL BRAKE CALIPER SPRING

MECHANICAL BRAKE CALIPER PISTON

3,700

30

13 KIT-VT-SC0535CH 50

17 KIT-VT-WS0612

16 KIT-VT-ISO7379

15 KIT-VT-NT05SH

14 KIT-VT-WS0510

NUT SELFLOCK HIGH M5

22 KIT-VT-SC0865CH

21 BRK-CALMECSUPBK

20 DSC-SUPBK

19 DSC-MECBK

18 KIT-VT-NT05SL

5,100

5,100

40

10,400

40

30

620

27 VT-SHBRK 15,000

40

30

50

26 VT-WRBRK 1,100

25 KIT-VT-SC0818RH 50

24 KIT-VT-NT08SH

23 KIT-VT-WS0814

IPK ACCESSORIES 



BRAKE PUMP CAP

SCREW CYLINDRICAL HEAD M4x12MM

BRAKE PUMP SPRING Ø19MM

BRAKE PUMP PISTON Ø19MM

OIL SEAL RUBBER Ø19MM

BRAKE PUMP LEVER

BRAKE PUMP OUTSIDE DUSTY CAP

PIN Ø5x20MM

FLAT PIN M6x6MM

code description 希望小売価格（税別）

BRAKE PUMP Ø19MM

COPPER WASHER Ø10x14MM

SCREW OIL PIPE CONNECTION M10

THREADED OIL CAP M10

BRAKE PUMP INNER GASKET

BRAKE PUMP INNER GASKET SUPPORT

KIT-VT-OL10CP

KIT-PMP-19GSK

300

830

5,100

SPACER Ø8.5xØ18xH5MM

400

50

50

120

830

3,000

200

1,200

15

16

KIT-VT-SC0508RH

620KIT-VT-SP0518

SCREW ROUND HEAD M5x8MM

KIT-PMP-19SPR

PMP-19GSKSUP

PMP-19CAP

8

5

10

KIT-VT-SC0412CH

13

14

KIT-PMP-19OUTC

9

KIT-VT-PN0520

KIT-VT-PN0606B

KIT-CS-PMP-19PST

KIT-PMP-19RBB

CS-PMP-19LVR11

BRAKE PUMPS

1 KIT-VT-WS1014

/ CS-PMP-19OL 23,000

120

12

2

7

6

4

3

KIT-VT-OL10CN 830

50

3,000

IPK ACCESSORIES 



CS-BRK-DPKZ16

8,300

UNIVERSAL BRAKE DISK PROTECTOR KIT

400

800

200

CS-BRK-DST

11,400

3,000

CS-BRK-SFTCBL
3,000

BRK-SFTCBL350 BRAKE SAFETY CABLE L350MM

BRAKE SAFETY CABLE with clamp

BRAKE BIAS

BRAKE TIE ROD M6X450MM CHROMED

KIT-BRK-PPBLT

KIT-BRK-TRDFRK

KIT-VT-SF0624CL

KIT-BRK-EXTCBL

TIE ROD FORK Ø6x24MM

SAFETY CLIP Ø6x24MM

EXTENSION SAFETY CABLE

BRAKE PIPE FIXING BELT 8MM

BRAKE TIE RODS - SAFETY CABLES - ACCESSORIES

1,900

BRK-TRD340

BRK-TRD270

BRK-TRD410

BRK-TRD450

BRK-TRD430

code description 希望小売価格（税別）

BRAKE TIE ROD M6X270MM CHROMED

BRAKE TIE ROD M6x340MM CHROMED

BRAKE TIE ROD M6X410MM CHROMED

BRAKE TIE ROD M6X430MM CHROMED

IPK ACCESSORIES 


